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Töltsd ki a számrejtvényt! 
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Vízszintes Függőleges 
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58 196 – 57 936 = 
125 879 + 352 420 = 
23 + 52 = 
5 287 671 + 2 658 973 = 
1 153 055 – 458 965 = 
478 + 259 = 
24 365 – 14 937 = 
1567 – 1103 =  
249 + 478 = 
265 + 566 = 
16 – 4 = 
87 + 62 = 
287 – 208 = 
78 945 – 69 399 = 
25 647 + 36 697 = 
618 – 571 = 
854 796 + 163 4021 = 
569 872 – 205 676 = 
2568 – 2170 = 
905 764 – 894 491 = 
1569 + 4039 = 
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89 654 – 61 961 = 
2687 + 3907 = 
652 – 153 = 
2658 + 4746 = 
43 + 43 = 
9741 + 17002 = 
1000 – 57 =  
12 560 – 3086 = 
10 000 – 2918 = 
26 542 + 16 182 = 
356 921 – 287 993 = 
38 + 33 = 
2 134 988 – 1 960 798 = 
8246 + 7515 = 
1946 + 2740 = 
48 975 + 45 813 = 
5 000 000 – 4 990 569 = 
4358 + 1859 = 
1918 + 1918 = 
19 465 – 18 972 = 
15 + 27 = 
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Megoldás: 

 


